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&5 X 4 Tr]n%{ 'Fimﬁ(z)o)ﬁﬁﬁ’é 73(;33:33 X 4 —Flﬁﬁggl;(?,;}(; rzjn? 73(;33:33 X 4 .(Er,n‘c)k J:Jﬁﬁ?b(z)o)ttlal jj(&itmé)é X 4 J:m;b(z)wtt.s; '?né)k jj(lf’)\jtr:é
7 100kN/m%#8%2% | 1.00 | 000 ~ 323| 151.63 |3m&EBZB| 000 ~ 1.10| 3.50 17.69 | 100kN/m#%i#Bz5 | 1.00 | 1074 ~ 4163| 151.63 |3m&EBZB| 3000 ~ 41.63| 3.50 17.69
s 1.00 | 823 ~ 1101 100.00 | =04t | .10 ~ 1101] 3.00 156.16 ThList 1.00 | 6.00 ~ 10.74 100.00 | =nst | 6.00 ~ 3000 3.00 15.16
2 100kN/m%E#BZ5 | 1.00 | 000 ~ 308 149.07 |3mEBZB| 000 ~ 101|545 17.44 | 100kN/m#%i#Bz25 | 1.00 | 1091 ~ 4390 | 149.07 |3m&EBZB| 420.00 ~ 4390 | 3.45 17.44
s 1.00 | 508 ~ 1087 100.00 | =04t | 1.01 ~ 1087] 3.00 156.16 ThList 1.00 | 5.00 ~ 1091 100.00 | =nst | 6.00 ~ 4000 3.00 15.16
3 100kN/m%EBZ5 | 1.00 | 000 ~ 289 145682 |3mZE#BZD| 000 ~ 1.79| 3.74 18.89 | 100kN/m%i#Bz25 | 1.00 | 11.23 ~ 6063| 14582 |3m&EBZB| 40.00 ~ 60.63| 374 18.89
s 1.00 | 289 ~ 1068 100.00 | #nLst | .79 ~ 1068 3.00 156.16 ThList 1.00 | 6.00 ~ 1123 100.00 | =nst | 6.00 ~ 4000 3.00 15.16
4 100kN/m##8%2% | 1.00 | 000 ~ 367| 1569.45 |3mEBZ2B| 000 ~ 217| 3.99 20.15 | 100kN/mi#%#825 | .00 | 1055 ~ 5663 159.45 |3m&E Bz 3| 2500 ~ 56.63| 3.99 20.15
s 1.00 | 867 ~ 1145 100.00 | #nbst | 217 ~ 11.45] 3.00 156.16 ThList 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 2500 3.00 15.16
5 100kN/m%#8%2% | 1.00 | 000 ~ 373| 160.58 |3m&EBZ5| 000 ~ 223| 4.03 20.35 | 100kN/m#Z#BZ% | 1.00 | 1053 ~ 5316 160.58 |3mEBZD| 2500 ~ 5316 4.03 20.35
s 1.00 | 8783 ~ 1152 100.00 | #nbst | 228 ~ 11.52] 3.00 156.16 ThList 1.00 | 6.00 ~ 1053 100.00 | =nLst | 6.00 ~ 2500 3.00 15.16
P 100kN/m##8%2% | 1.00 | 000 ~ 366 159.30 |3mEBZB| 000 ~ 130| 3.62 1832 | 100kN/m%#B2% | 1.00 | 10.564 ~ 49.71 159.50 |3mZE#BZB| 2500 ~ 49.71| 3.62 18532
s 1.00 | 566 ~ 1145 100.00 | =04t | 1.30 ~ 11.45] 3.00 156.16 ThList 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 2500 3.00 15.16
7 100kN/m##8Z2% | 1.00 | 000 ~ 348| 156.05 |3mEBZ3B| 000 ~ 119| 3.66 17.97 | 100kN/m#%i#Bz5 | 1.00 | 1061 ~ 49.09| 166.05 |3mEBZB| 3000 ~ 49.09| 3.56 17.97
Thilst 1.00 | 348 ~ 1126 100.00 | ThLS | 1.19 ~ 11.26] 3.00 15.16 Thilst 1.00 | 500 ~ 1061 100.00 | #nllst | 6,00 ~ 3000 3.00 156.16
3 100kN/mZ#825 | 1.00 | 000 ~ 331 153,12 |3mZ#BZB| 000 ~ 1.12] 851 17.74 | 100kN/m%#Bz5 | 1.00 | 1071 ~ 4590 | 15312 |3m&E#BZB| 3000 ~ 4590| 3.51 17.74
Thilst 1.00 | 331 ~ 1110 100.00 | ThLS | 1.12 ~ 11.10] 3.00 15.16 Thilst 1.00 | 500 ~ 1071 100.00 | #nllst | 6,00 ~ 3000 3.00 156.16
9 100kN/M%EBZ5 | 1.00 | 000 ~ 272 14296 |3mE{BZ3| 000 ~ 087| 3.37 17.06 | 100kN/m%#8z5 | 1.00 | 11.30 ~ 4000 142.96 |3mEBZB| 40.00 ~ 40.00| 3.37 17.06
Thilst 1.00 | 272 ~ 1051 100.00 | TS | 087 ~ 1051] 3.00 15.16 Thilst 1005600 ~ 1130 100.00 | FnLS | 5,00 ~ 40.00| 3.00 156.16
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Ths ~ Ths ~ Ths ~ st ~
100kN/mMZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Ths ~ Ths ~ zhs ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Ths ~ zhs ~ Ths ~ st ~
100kN/mMZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Ths ~ Ths ~ Ths ~ ZzhLst ~
100kN/mMZ#8Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Ths ~ Ths ~ zhs ~ ZhLst ~
100kN/MZ#8Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhs ~ Ths ~ Ths ~ st ~




